H & 0l & AHS B Ml A

0238 20laF Leral 2tat (g IS
SN 2 OIS
. THESA 243t
CHol: THRISAL RO BAE X (Srol: 22)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
2t o doEE Y 36,780,305 31,914,056 3,836,249
= 12,240,963
Jl 5,919,605
= 7,526,800
Al 10,062,937
AESAH 243t 49,020 49,020 0
AESAH E0f 243 X3 49,020 49,020 0
NSAES K2 48,520 48,520 0
201 2egh=3| 4,000 4,000 0
01 At2t2ltl 4,000 4,000 0
OXSAHE S XIE 4,000
206 MH=Hl 5,000 5,000 0
01 MZH| 5,000 5,000 0
OXNESAHE S NE =23 5,000
301 EetE2 N = 39,520 39,520
14 0Bt 2a3 39,520 39,520
ONHASAHA W= &4 1,000
OXESAHA &S 12,000
ONAS 024 SAH S 3,600
OARISKIAIE THESAHA 25 4,800
OXNETHSAH &S 1,680
OO0l - DISSAY &= 2,400
OZ=FAY HE=SMU 2= 3,840
OZ=ZAYSAIL 25 2,400
O=Rc|AcISMUH 2= 600
OOIZLISAMH = 1,200
ORtSESAIH &= 2,400
OxSISSAH &= 3,600
OIS 2 500 500 0
201 Zet=Eh] 500 500
02 S3=4gl 500 500
O&IINSAt 2EH| 500
oy - OlssX Sd 33,307,895 29,503,080 3,804,815
= 11,894,384
Il 5,919,605
= 6,905,545
Al 8,588,361
IEZ A 7,932,405 6,645,303 1,287,102
) 5,674,805
& 985,350
Al 1,302,250
NAS stR20HE Maitdg X 820,000 800,000 20,000




2A:

2t 0" IR

M. o4 - Ots=EX sX
Chel: JIEEMI| (Hol: &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 246,000
Al 574,000
301 LBBNZ 820,000 800,000 20,000
& 246,000
Al 574,000
01 AISIBE XS (2 RETME) 820,000 800,000 20,000
OMAS SHER2IIY METIE A2 820,000
& 246,000
Al 574,000
HAEst22 NS 60,263 68,153 AT7,890
| 48,211
& 6,026
Al 6,026
301 LPBNF 60,263 68, 153 AT7,890
| 48,211
& 6,026
Al 6,026
01 AISIBE XS (2 RETME) 60,263 68,153 AT,890
OFAHEREE X 60,263
J| 48,211
= 6,026
Al 6,026
SIRRIIETE 2=Hl S X2 7,033,242 5,758,250 1,274,992
J| 5,626,5%4
= 703,324
Al 703,324
301 LBBNSZ 7,033,242 5,758,250 1,274,992
| 5,626,5%4
T 703,324
Al 703,324
01 Al B&X2HZ2(2REETA) 7,033,242 5,758,250 1,274,992
OeIR2II=EXH L=Hl S K& 7,033,242
| 5,626,594
T 703,324
Al 703,324
o ZrNgs X 18,900 18,900 0
301 LetEHZ 18,900 18,900
11 HAAHIXIE S 18,900 18,900
ON4 AgssNLdW=s 18,900
otsE2s I 25,375,490 22,857,777 2,517,713
= 11,844,384
| 244,800
& 5,950,19%




A 2t IS L
M oY - ots=X A

el Ol sER K& (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 7,286,111
PR 28| N2 11,837,436 9,568,730 2,268,706
= 7,102,462
= 2,367,487
Al 2,367,487
301 EtE N = 11,837,436 9,568,730 2,268,706
= 7,102,462
= 2,367,487
Al 2,367,487
01 AR 2EHSFS(RNEERTHE) 11,837,436 9,568,730 2,268,706
OEsuAA 212AH| XI&H 11,837,436
= 7,102,462
S 2,367,487
Al 2,367,487
SSNAE HRME X (LAZSEZHEH]) 2,789,748 2,839,500 N49,752
= 1,673,848
== 557,950
Al 557,950
301 22N = 2,789,748 2,839,500 AN49,752
= 1,673,848
=S 557,950
Al 557,950
01 Al E2E A S(FREXM) 2,789,748 2,839,500 N49,752
S MM KN (LDAI2SEZH
&) 2,789,748
= 1,673,848
= 557,950
Al 557,950
SN MM N(ERAZ WAL XIE) 4,750,134 4,556,650 193,484
= 2,850,080
= 950,027
Al 950,027
301 EtE NS 4,750,134 4,556,650 193,484
= 2,850,080
= 950,027
Al 950,027
01 Al EE A2 (ZDEXMR) 4,750,134 4,556,650 193,484
OESNAE MRS X (2RHT WAL
) 4,750,134
= 2,850,080
= 950,027
Al 950,027
SKWAY MRME XA (RAIBA 2F XIHI) 101,3%4 101,394 0




2A:

X XH -
o=

2t 0" IR
od - Ots=A &8

el ofsEs A3 (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 60,840
T 20,277
Al 20,277
301 LB F 101,3% 101,3% 0
= 60,840
& 20,277
Al 20,277
01 AISIBEX 2GS (2 RETME) 101,3%4 101,3H4 0
SSDEA MM X (DAZE 2T
X&) 101,3%
= 60,840
& 20,277
Al 20,277
BRI HRJME XA (SEEBSUM SE222E 108,816 114,750 Ab,934
= 65,290
& 21,763
Al 21,763
301 LPENSZ 108,816 114,750 Ab,934
= 65,290
T 21,763
Al 21,763
01 AISIBE XS (2 REXTE) 108,816 114,750 Ab,93%4
02RRAA HENS NA(SELIDA
SHI2RH) 108,816
= 65,290
= 21,763
Al 21,763
o2l01& X2 (Ww-hl) 125,734 117,630 8,104
= 75,438
= 25,148
Al 25,148
307 2I2+01A 125,734 117,630 8,104
= 75,438
T 25,148
Al 25,148
11 AR SXAMEE R 125,734 117,630 8,104
O M H| 125,734
= 75,438
T 25,148
Al 25,148
Oelold X (X&29hl) 55,221 69,860 A14,639
= 33,133
T 11,044




2A:

X XH -
o=

2t 0" IR
od - Ots=A &8

el Ol sER K& (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2

Al 11,044

307 gl2tol & 55,221 69,860 14,639
= 33,133
= 11,044
Al 11,044

11 AMEISXAIEEXS 55,221 69,860 14,639
OO0{gloly XA (Xtz2hl) 55,221
= 33,133
& 11,044
Al 11,044

Olglold X (sojEgeloiziold X&) 12,313 13,000 2687
= 7,383
< 2,465
Al 2,465

307 glztol & 12,313 13,000 AB87
= 7,383
== 2,465
Al 2,465

11 AMEISXAEEES 12,313 13,000 AB87
0020l XS (SHEHANE0IE) 12,313
= 7,383
=S 2,465
Al 2,465

Oglold nALEXA 15,190 24,765 A9,575
= 9,110
=S 3,040
Al 3,040

301 EetE2 NS 15,190 24,765 N9,575
= 9.110
= 3,040
Al 3,040

01 Al EE A S (2 RDEXMA) 15,190 24,765 A9,575
O0e0ld AL 15,190
= 9,110
= 3,040
Al 3,040

B30I KJ(HEA) 624,000 648,000 /24,000
=S 499,200
Al 124,800

307 @12t01 & 624,000 648,000 A\24,000
== 499,200
Al 124,800

11 AMEISXAEEES 624,000 648,000 24,000




2A:

X XH -
o=

2t 0" IR
od - Ots=A &8

el Ol sER K& (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2

ossgoeod N 624,000
= 499,200
Al 124,800

SBF AL XN 1,581,946 1,636,100 N4, 154
=S 474,584
Al 1,107,362

301 EtE NS 1,581,946 1,636,100 A\54,154
< 474,584
Al 1,107,362

01 AR 2EHSHS(RNEXRTHE) 1,581,946 1,636,100 NB4,154
OEF WAL MIHAHI 1,581,946
S 474,584
Al 1,107,362

FAXNS oelold 2| 5,544 12,000 26,456
= 1,663
Al 3,881

307 @120l & 5,544 12,000 6,456
s 1,663
Al 3,881

11 ARRIS XA E X 5,544 12,000 A\6,456
OF XS Oel0lE 23] 5,544
[ 1,663
Al 3,881

2ESAE d - gl XA 195,678 242,325 N46,647
= 39,136
Al 156,542

307 el2to| & 195,678 242,325 N46,647
= 39,136
Al 156,542

11 AMISXAIEEXE 195,678 242,325 N46,647
OEFAE ¢ - tedl X2 195,678
== 39,136
Al 156,542

2EAEIE € JIERIE0s K& 137,593 97,280 40,313
= 4,277
Al 96,316

301 EtE NS 137,593 97,280 40,313
= 4,277
Al 96,316

01 Al EE A S (2 REXMR) 137,593 97,280 40,313
OxdAHIIE & IHEE0S A2 137,593
= 4,277
Al 96,316




2A:

2t 0" IR

M. o4 - Ots=EX sX
&t orEE=s X (EEEE))
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
A2EAHINE 2 JIELIEOlS 2RI =03 277,784 226,5%6 51,188
& 27,778
Al 250,006
301 LPBNEZ 277,784 226,596 51,1838
& 27,778
Al 250,006
01 AISIBEH 2GS (2 UETME) 277,784 226,596 51,188
OJIE%IE 25H| 207,784
T 27,778
Al 250,006
HEZ0tSE S| 24,000 0 24,000
= 16,800
T 2,400
Al 4,800
301 LB F 24,000 0 24,000
= 16,800
& 2,400
Al 4,800
01 AISIBEH 2GS (2 RETME) 24,000 0 24,000
ONZ0lsESH| 24,000
= 16,800
& 2,400
Al 4,800
Ots=a X3 1,562,120 1,318,345 243,775
| 244,800
& 582,920
Al 734,400
301 LPENZ 1,562,120 1,318,345 243,775
J| 244,800
= 582,920
Al 734,400
01 A BEXHZ2(2REETA) 1,562,120 1,318,345 243,775
ogst=s Ots=al XA 979,200
| 244,800
Al 734,400
Os)|=E Olts=AKI~ 582,920
T 582,920
HAsEE MH S 2sdees XA 10,000 10,000
301 LPENSZ 10,000 10,000
11 HAIAHIXIAZ 10,000 10,000
OMASE A & 2SstMdEgEs K& 10,000
EFUA 22 BE 7,000 10,000 A3,000
07 QI2H01 & 7,000 10,000 A3,000




2A:

X XH -
o=

2t 0" IR
od - Ots=A &8

el Ol sER K& (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2

02 2IHBHAIHE £ 7,000 10,000 /3,000
OESuWA Ed 3= 7,000

ool 25201 N 340,053 334,600 5,453
= 77,900
Al 262,153

301 EtE NS 340,053 334,600 5,453
== 77,900
Al 262,153

01 Al 2E AL S(FREXM) 340,053 334,600 5,453
Oo0gold 200 K& 340,053
[ 77,900
Al 262,153

S3E Oel0ld WseFHEdl X2 6,500 23,000 216,500
= 1,950
Al 4,550

402 2IZtA=01d 6,500 23,000 16,500
= 1,950
Al 4,550

02 RIENZASEZ(0IETHR) 6,500 23,000 16,500
OEE¥E 0eloly u=ssdfddl X 6,500
== 1,950
Al 4,550

ZOHOIM Z08l01E 2 elAd] XI& 24,132 17,148 6,984
= 7,240
Al 16,892

301 EtE N = 24,132 17,148 6,984
= 7,240
Al 16,892

01 Al EE A S (2 RDEEMA) 24,132 17,148 6,984
OOt 2080l SdAI2H] K& 24,132
=S 7,240
Al 16,892

Olgl01E S48l X1 447,274 479,200 A31,926
< 134,182
Al 313,092

307 lztol & 447,274 479,200 A31,926
= 134,182
Al 313,092

11 MEISXAIEEXS 447,274 479,200 A\31,926
OO0y S2adl X3 447,274
= 134,182
Al 313,092

01201 OAIBt 24l X1 335,880 182,500 153,380




2A:

2t 0" IR

M o4 - ots=EX B
el OlsEs NE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 100,764
Al 235,116
301 EtE NS 335,880 182,500 153,380
= 100,764
Al 235,116
01 Al EE AT Z(2DEXR) 335,880 182,500 153,380
OO el0IE OMIEr 2gHl XI& 335,880
= 100,764
Al 235,116
el=x sa 2,302,570 2,265,774 36,796
= 346,579
== 621,255
Al 1,334,736
CSsdEotE X 2,302,570 2,265,774 36,796
= 346,579
=S 621,255
Al 1,334,736
Lo AB A 3,360 3,667 A307
== 504
Al 2,8%
301 22N = 3,360 3,667 A307
== 504
Al 2,8%
01 Al EHATZ2(2REZME) 3,360 3,667 A307
Ol AZAEHY| 3,360
= 504
Al 2,8%
COIHINANE RAI2 4 17,400 19,750 2,350
307 @201 & 7,400 9,750 A2,350
10 AlISXAIZEHE 22X 7,400 9,750 2,350
OZ=¢ IMES= 4,400
OZ=2¢Y JtAtEEA 3,000
401 Al HIZL 201 10,000 10,000
01 Al&H| 10,000 10,000
ONoIE=E+E FAE+ 10,000
Lol g X 5,000 5,000 0
= 1,500
Al 3,500
301 eEetE2 N = 5,000 5,000 0
s 1,500
Al 3,500
01 Al 2E AL S(SREXME) 5,000 5,000 0




SN S HAIIED
Hm: Lol=x =X
ol :deory X (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ool 2EXI| X2 5,000
= 1,500
Al 3,500
ded 2gAH 1,134,250 1,084,698 49,552
=S 122,880
Al 1,011,370
307 21201 & 1,134,250 1,084,698 49,552
< 122,880
Al 1,011,370
11 AMEISXAEEES 1,134,250 1,084,698 49,552
O=2gH| 559,000
& 46,080
Al 512,920
©2tAMH| 97,500
= 14,720
Al 82,780
OdLtet] 315,250
< 62,080
Al 253,170
OF Al 162,500
DIS=E g2 2gAH 4,184 4,184 0
= 837
Al 3,347
307 @120l & 4,184 4,184 0
=S 837
Al 3,347
11 ARRIS XA E X 4,184 4,184 0
24| 1,440
[ 288
Al 1,182
O©2tAMH| 800
= 160
Al 640
Od | 1,944
s 389
Al 1,555
F2E L & 2=HIXH 693,157 719,498 AN26,341
= 346,579
=S 69,315
Al 217,263
307 21201 & 693,157 719,498 N26,341
= 346,579
= 69,315
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7,000
7,000
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21,500
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21,500
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Ofl &F2H

217,263

693,157

601,250
300,625
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74,750
37,375

Al
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29,900
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17,157
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1,715
6,863
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4,000
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4,000
3,000
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426,219
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W

426,219

426,219
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426,219
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KIO

Hlw

A2,100

Ab,362
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25,362
21,472
N1,472

A3,890
A3,890

MEE
Ofl &k2h

9,000

67,682
67,682
67,682
42,912
30,912

12,000

21,170
21,170

3,600
3,600

Ofl &F2H

1,100
6,900
6,900
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41,440
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16,000
13,440
12,000
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